
Folgen und Reihen 1 (Lösungen) Algebra 10. Klasse

(1) a) a1 = 2
a2 = 5
a3 = 8
a4 = 11
a5 = 14

b) a1 = 18
a2 = 13
a3 = 8
a4 = 3
a5 =−2

(2) a) a1 = 1

a2 =
3
2

a3 = 2

a4 =
5
2

a5 = 3

b) a1 = 2.8
a2 = 2.5
a3 = 2.2
a4 = 1.9
a5 = 1.6

(3) a) a1 = 3
a2 = 6
a3 = 12
a4 = 24
a5 = 48

b) a1 = 2
a2 = −6
a3 = 18
a4 = −54
a5 = 162

(4) a) a1 = 5

a2 = 5⋅√2
a3 = 10

a4 = 10⋅√2
a5 = 20

b) a1 = 9

a2 = −3⋅√3
a3 = 3

a4 = −√3
a5 = 1

(5) a) a1 =
1
3

a2 =
1
6

a3 = 1
12

a4 =
1

24

a5 = 1
48

b) a1 = 0.3
a2 = 0.06
a3 = 0.012
a4 = 0.0024
a5 = 0.00048

(6) 3⋅1013 (30 Billionen)


